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Note' This guestion paper contains two parts A and B,
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Part A is compulsory which carries 25 marks. Answer all questlons in Part A.

Part B consists of 5 Units. Answer any one full question from each.unit. Each
: questlon carries 10 marks and may have a, b, ¢ as sub questlons

PART- A
' ' (25 Marks)

Prove that VE = A ‘ | * - [2M]

Given that y(0)=2, y(1)=2, y(3) =6 Fmd the linear polynonnals in (0, 1) and (1, 3)
by Lagranges interpolation formula. [3M]
Find the two pomts of which in between the root of x sin.x+cos x= 0 [2ME

}d{(b\lg and y(O 2)by Euler’s method. '[-3M]

7r<xf’f€}f

If f(x)y= 0, 4 thepf ﬁm’{ a{, m the Fourler serried of f(x) [21\?{‘]"'
sinx, Oxx <\>r\ . _

If ﬁmte Fourier sine: g\ans Q{'m of:fﬁ; —-2?—?—1’)"" then fmd f(x). B [3M}
Form the pag_, :1a]f»d*ffsref;1t1al e\cmat;}i‘x fromz = a+b(x+ y) ' - [ZM]I
Write the thr";:e;p-ossi;b; solutid: s\B“f/i—“-:%. - _ [3M]
Find v(x?+y? z) %\K /} ; ' _ - [2M]

If F=xi- yj+z ﬁndc/ﬂF ' . - [3M]

PART B
(50 Marks)

It ):JO =5,y =87, = 13, y, = 20. Asstiming the-third differences are zero-find y,-

- and y,.

Fit a straight line to the -fdllowing data using the method of least squares.

X 1 3 7 9 11 : 13

y . 3.4900 8.6900 19_.0900 -~ 242900 294900 - 34.6900
_ _ ' : - [5+5]
OR
Find y(3.4) from the following table using Newton’s forward mterpolatlon
formula: _ :

x{3|4]| 5 6
y|31[ 69131223
Fit a straight line to the following data using the method of least squares. [5+5]

- Ix T1 2 13 |4 15 |6 |
[y 114 [33]40(63[76]85
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4.  Evaluate _{ sin % dx by dividing the range into 10 equal parts using
. a) Trgp_ezoida_l.l_;qle, - b) Simpson’s %xd. rule. . _ o [5+5j |
. . OorR
5. . Find y(O 2) usmg Taylor 5 ¢ series method glven that %x_ =1- 2xy, y(O) =0 taklng '
h01_" , | [10]
B 6_.a}_7 Obtain half range cosine senes for sin x'in (0 7r) o
b Ifthe founer cosme transform of f(t) is f.{s ( ) then provc that the Fourler sine
: 'transform of tf(t) is ( f (s)) ' _ - - [545]
7 .a) Obtain Fouricr_ series for f (x)=x* in[- 1, 1]. _ _ |
'b)  Find f(x), if its sine transform is ™ L © - [545]
. Solve the partial d1fferent1abequat1on x+qy pq by Charp1t s method [101
o | P EB -
9. Solve ‘the equatlon {\au £ /X;{mthmb,gwndary condltmns u(x, ) 3sin#zx
_ N _
u(0.1)=0.u(15)=0 0 e O/ - o
. . f/g’"’ o \ i ’ .
- 10.2) Find the d11?éct1ﬁ"nal,ﬂ1 déIlV&th@\Of\;!K x yz+4xz at (1, 2 1) in the d1rect1on of
: Y T _
o 21—_,1 ~2k. x&x_.uwf \ff S
-b) Evaluate I Far gizvh%re F i+ y? j and c is the curve: y =x* in‘the xy-plane
 from (O, 0) to (1, 1); N g; - « [5+5]
- \“m;_:;.;_‘_m""'; d _ OR . S
11. - Verify divergence theorem for the function F=yi -F'J_cj+z2k taken over the
" cylindrical region bounded by x* + y* =9,z=0 and z=2. ' [10]
«==00000---



